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A spark ignition engine is running on a dynamometer test

stand and the following measurements of the exhaust = i P % (562
products are made: ) «9 e
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CO,=12.47%

C0 = 0.12% = e %’/ﬁ} bt 3”?
0:,=2.3%

CsHis(equivalent) =367 ppm

NO =76 ppm

All concentrations are by volume on a dry basis. The
engine is fueled by iso-octane (CgHig, MW = 114.2
kg/kmol). Determine the emission index of the unburned
hydrocarbons expressed as equivalent hexane. MWcsH14
=86.2 kg/kmol.
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A spark ignition engine is running on a dynamometer = T + (' -0.023) Y4

test stand and the following measurements of the — 4\\3 QZ |
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All concentrations are by volume on a dry basis. The
engine is fueled by iso-octane (CgHis, MW = 114.2 ¢+ -ooem)Z) 1
kg/kmol) NN\,«@ 23%0, = U77¢C L
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A) Convert the given NO concentration to a wet el
basis, and Nmix @ 57, 00 = U6 w_ =
B) What is the NO concentration corrected to 5% [ —u 76 (067) y
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